Stanford Questions for HSE Students

Professor Stephen Krasner

International Politics

1. “Conventional theories of international politics such as realism and liberal institutionalism assume that unified, rational, autonomous states are the fundamental actors in international politics.  However in the contemporary international environment the most challenging problems are presented by states that are often not unified or autonomous.  The challenge presented by failed or weakly governed states makes it necessary to develop a new theoretical perspective on international politics.”

Discuss.  Refer to readings where appropriate.

 2. “The dominant perspectives toward international relations in American political       science -- realism and liberal institutionalism -- are fundamentally 
misleading because they ignore ideas and variations in national cultures."

Discuss.  Refer to reading where appropriate.

Professor Lawrence Goulder

Environmental Economics

1.  Consider the choice between a mandated technology and a carbon tax to control carbon dioxide emissions.

a.  Consider a carbon tax is set equal to marginal environmental damages, and a mandated technology that requires the same input mix and end-of-pipe treatment as that which would occur under the carbon tax.   How would emissions reductions under the technology mandate compare with those under the carbon tax?  How would the efficiency gains compare?

b.   With reference to the Nordhaus DICE model, explain why the net-benefit-maximizing carbon tax is higher in the case where uncertainty is accounted for, compared with the “certainty-equivalent” case.  

2.  Cap and trade is now an instrument for environmental policy at the international, national, and subnational levels.

a.  What are the potential attractions and disadvantages of freely allocating emissions allowances, as compared with auctioning them?  Consider the implications for (a) the distribution of the policy burden between producers and consumers, and (b) overall policy cost.  

b.  Does free allocation of allowances remove firms’ incentives to reduce emissions?

c.  How can free allocation of allowances cause an increase in profits?  How does the impact on profits depend on the extent of capital adjustment costs?

Professor Carnoy

Economics of Education

1. In the 1990s, the government of Eastalia faced considerable budget constraints and had to consider various options concerning the expansion of higher education. A keen competition was taking place to enter public universities, and places were rationed according to examination results. Private university education was prohibited under the previous regime, and the new government was reluctant to allow private higher education.

At that time, were 70,000 pupils in the final grade of secondary schooling, 50,000 of whom passed the secondary school leaving examination. A total of 30,000 candidates took the university admissions test, but only 4,000—those with the best marks—were eventually selected to attend university at government expense. There were a great many students who scored well enough on the exam to indicate they could benefit from university attendance and they did want to attend. However, they could not attend due to a shortage of places.

The various features of higher education in Eastalia—high social rate of return to university completion, tight budgetary conditions, large excess demand, and a high degree of social selectivity—suggested that there was a strong case for considering the introduction of user charges. Whether such a policy was desirable depended not only on economic feasibility, but also on the government’s political judgment. However, as a first step in evaluating the policy proposal, it was necessaryl to conduct a technical assessment of the policy’s impact on the number of students who would attend university. To make that assessment, additional data were needed on the costs of university (Table 1).

	Table 1: The Unit Cost of Public University (in dollars)

	Private Cost
	Cost to the government
	Total Social Cost

	Direct Cost1
	Foregone Earnings
	Total
	
	

	100
	900
	1000
	400
	1400

	1 Includes books, transportation, uniforms; no fees currently charged


Questions

a. No fees are currently imposed. The government spends $400 per pupil per year. If the government introduced user charges (school fees), the unit cost of public university to the government would drop, so that more places could be provided with the same initial budget. Calculate the supply of university places at different fee levels from 1 to 400. Using graph paper, plot a graph relating the supply of places to the various fee levels from 0 to 400. (Put students on X-axis and fees on Y axis).

b. The demand for university can be described by its elasticity of demand. Plot two demand curves under alternative assumptions about the elasticity of demand—one with a demand elasticity of - 1, and one with a demand elasticity of      - 2.  In making these calculations, assume that the demand for higher education was 20,000 when there were no fees (which means that the total private cost was 1,000). (The introduction of fees will increase private cost).

c. Using the demand and supply curves that you estimated, comment on the viability of the user charge strategy. If the demand elasticity is – 1, what is the approximate fee level that maximizes enrollment? How about if the demand elasticity is – 2? If your answers differ, explain why.

2. Xenos is a country where about 90 percent of young people complete secondary school and about 50 percent of secondary graduates go on to attend university. For those secondary graduates who do very well on the university entrance examination, their attendance at the university is paid by the government. But in the past ten years, because of increasing demand for university places and a general improvement in the economy, the government decided to expand university enrollment by allowing universities to charge fees to students unable to get a free place in their preferred field of study. So, about 30 percent of all places in Xenos’ universities eventually were paid by students, not by government subsidies.

Last year, Xenos was hit by an economic recession that is now headed into its second year. Unemployment has risen considerably. Also, because of the recession, government revenues have fallen sharply. 

a. Given this situation, do you expect that demand for higher education by young people would increase or decrease as a result of a prolonged recession and rising unemployment? Explain your answer using age-earnings profiles. Be also sure to explain your assumptions.

b. The Ministry of Education hires you as an advisor. Would you advise them to increase spending on higher education despite the fact that they have less government revenue? Or would you advise them to decrease spending? Explain your reasoning.

c. If you advised the government to increase spending on higher education, where would you advise them to put the increased spending? If you advised the government to decrease spending, where would you advise them to cut? Explain your logic. 

